Pli 7l

SIGNATURE SERIES
SOBWS

SIGNATURE OLYMPIC BENCH WEIGHT STORAGE

Customer Support Services

PARTS LIST

Page 1



SOBWS SIGNATURE OLYMPIC BENCH WEIGHT STORAGE
CONTENTS

PAGE
COMPONENT ASSEMBLY 3
COMPONENT ASSEMBLY LEGEND /.
LEFT UPRIGHT ASSEMBLY 5
LEFT UPRIGHT ASSEMBLY LEGEND 6
RIGHT UPRIGHT ASSEMBLY 7
RIGHT UPRIGHT ASSEMBLY LEGEND 8
IMAGE 9

NOTE: SUBSTITUTE PART NUMBERS ENDING
WITH ‘XX WITH THE REQUIRED COLOR CODES.

FRAME PADS
01 =WHITE 01 = BLACK
02 = PLATINUM 99 = CUSTOM

03 = BLACK

Page 2



SOBWS SIGNATURE OLYMPIC BENCH WEIGHT STORAGE
COMPONENT ASSEMBLY

(3

SEE PAGE 4 FOR LEGEND

Page 3



SOBWS SIGNATURE OLYMPIC BENCH WEIGHT STORAGE
COMPONENT ASSEMBLY LEGEND

ITEM NO. [ QTY. | PART NO. |DESCRIPTION

| 1 78532XX |PTD ASSY, SOBWS, LEFT UPRIGHT
| 78533XX [PTD ASSY, SOBWS, RIGHT UPRIGHT
1 8092701 |DECAL SHEET LBS
1
1

@EERs0) |DECAL SHEET KG
@EZen |DECAL, WARNING, HORIZ, MULTI-LANG SHEET

Ol BN

Page 4


https://www.gympart.com/itemdesc.aspx?ic=LF14025&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS266&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

SOBWS SIGNATURE OLYMPIC BENCH WEIGHT STORAGE
LEFT UPRIGHT ASSEMBLY - 78532XX

(]

SEE PAGE 6 FOR LEGEND

Page 5



SOBWS SIGNATURE OLYMPIC BENCH WEIGHT STORAGE
LEFT UPRIGHT ASSEMBLY LEGEND

ITEM NO. | QTY. | PART NO. |DESCRIPTION

1 78524XX [WLDMT, SOBWS, LEFT UPRIGHT
@EBEeE! (FOOT, 2.50 X 4.49 FLOV
GEEE) (COVER, FOOT - STRAIGHT
@meRsn4 (WASHER, FLAT 3/8" SAE ST ZN
@02 (NUT, M10 X 1.5 HEX NYLOCK
@261202
@078001
@401

SCREW, M10 X1.5 X 25MM UNS HEX CS ST ZN
CAP, END 1.75 DIARD 14-20 GA
RING, WT HORN

(0o Ba NN e O | BN [ OV) B S
AIAMINININ] =] ) —

Page 6


https://www.gympart.com/itemdesc.aspx?ic=LFS2102&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS437&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS2030&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS1151&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LF13062&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS082&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS597&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LF13693&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LF13877&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

SOBWS SIGNATURE OLYMPIC BENCH WEIGHT STORAGE
RIGHT UPRIGHT ASSEMBLY - 78533XX

SEE PAGE 8 FOR LEGEND



SOBWS SIGNATURE OLYMPIC BENCH WEIGHT STORAGE
RIGHT UPRIGHT ASSEMBLY LEGEND

ITEM NO. | QITY. PART NO. [DESCRIPTION

78533XX  [PTD ASSY, SOBWS, RIGHT UPRIGHT

COVER, FOOT - STRAIGHT

FOQOT, 2.50 X 4.49 FLOV

WASHER, FLAT 3/8" SAE ST ZN

NUT, M10 X 1.5 HEX NYLOCK

SCREW, M10 X1.5 X 25MM UNS HEX CS ST ZN

RING, WT HORN

CAP, END 1.75 DIARD 14-20 GA
8106801 |LABEL, SERIAL NUMBER, LARGE

@250 (LABEL, H WARNING 4.5 X 1.625

N[O NN OB OIN]—

N N EN Y Y N S e =

o



https://www.gympart.com/itemdesc.aspx?ic=LFS2102&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS437&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS2030&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS1151&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LF13062&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS082&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS597&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LF13693&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LF13877&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LFS712&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

SOBGWS SIGNATURE OLYMPIC BENCH WEIGHT STORAGE
IMAGE

Page 8



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9

